> p1:=—3*x+7*xA2—3*xA3+7*xA4;p2;=5*x§5+3*x“3+x“2—2*x+1;
pl:=-3x+7X—-3xX+7x"

p2i=5xX +3x+xX¥-2x+1

[ > sort(expand(p1*p2)).; ' '

35X 158 +56 X —17X¥+4xX +11 8 -20X +13x¥ -3 x

=> quo(p2,p1.x);sort(rem(p2,p1.x));

Ex+£
7 49

223 -2y
49 49

=> factor(p1);factor(p1,I); .
x(7x=3) (14+x)

x(x=1) (x+1) (7x-3)

[> pol:=6%x*yA5+12¥yAq+14*yA3*xA3_15%xA2*yA3+9¥xAT*YAD 35k xAL*
Y+21¥xA5; . . .
pol:=6x)y°+ 12+ 14V X - 15Xy +9x )y =35 y+21 %
B sort(pol, [x,yl. plex);r ) o o
21X —35Xy+ 14Xy +9x )y — 15Xy +6x)y° + 12 )"
B collect(pol, x); ( - o
21X 35Xy + (924 14y°) ¥ — 15y +6xy° + 12"

> r:=(xA2+3*x+2)/ (xA2+5*x+6); numer(r);denom(r);
::£+3x+2
X+5x+6

X+3x+2
X+5x+6

r:

B normal(r);
x+1

x+3

B convert((xA3+xA2-x+1)/(-3*x+7*x"r2-3*xA3+7*x"4), parfrac,x);
143 1 1 7x+3
_74_7
87 (7x—3) 3x 29 14+

=> Vv:=(x+1)A(-2); numer(v)/expand(denom(v));
1

(x+1)2
B S
X+2x+1
[ > (xX-1)*(x+2) /7 ((x+1)*x)+(x-1)/(1+x)A2; sort(normal(%, expanded));
(x—l)(x+2)+ x—1
(x+1)x (x+1)°
X 4+3x¢—2x=2
X 42X +x

V.=




(%hi1) pl:-3*x+7*x"2-3%x"3+7*x"4;p2:5*x"5+3*x"3+x"2-2*x+1;

(%ol) Tz —32°4+72° -3z
(%02) 5a®+3a> +a2°>—22+1

(%i3) expand(pl*p2);

(%03) 352° —152° + 562" —172° +42° + 112" —202° + 132> — 3z

(%i4) quotient(p2,pl);remainder(p2,pl);

1
(%o04) %
(%o5) — 53z° —492% + 53z — 49

49
(%i6) factor(pl);gfactor(pl);

(%06) z (Tz—3) ($2 +1)

(%07) x (x—1) (x+1i) (Tz—3)

(%i8) pol:6*xx*xy 5+12%y~4+14%y~3*x"3-15%x" 2%y " 3+9%x " 3%y 2-35%x"4*y+21%x"5;
(%08) 6xy® +12¢y* + 142 y> —152%¢y* +92%y* — 352" y 4+ 212°

(%19) ordergreat(x,y);

(%09) done

(%i10) G*x¥y~B+12ky~4+14%y"~3%x"3-15%x"2ky " 3+0%x" 3%y~ 2-35+x " 4*y+21%x"5;
(%010) 21 2° — 35y z* + 149° 2® + 99° 2® — 15¢4° 2® + 69" = + 12¢*

(%i11) unorder();

(%o11) [y, 7]

(%112) collectterms(pol, x);

(%012) 6zy° + 129" +2° (143> +9y°) — 152 y° — 352" y + 212°

(%i13) r:(x"2+3%x+2)/ (x"2+5%x+6); num(r) ;denom(r);

22 +32+42
22+52+6
(%014) 2° + 3z + 2

(%015) 2> + 52+ 6

(%013)

(%116) ratsimp(r);

r+1

(%016) 273

(%117) partfrac((x"3+x"2-x+1)/(-3*x+7*x"2-3*x"3+7*x"4), x);

Tr+3 143 1

ol S w0 Y8 e —3) " 3s

(%118) expand((x+1)"(-2));

1

18) —~
(%018) 24+2zx+1

(%119) (x-1)*(x+2)/ ((x+1)*x)+(x-1)/ (1+x)"2; ratsimp(%);

x—1 (x—1) (z+2)
(z+1)? z (z+1)

(%019)

22432222 -2
3 +222+x

(%020)
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